m =70(0.5) + 71(0.2) + 72(0.1) + 73(0.2) = 71

ol =(70=T1)%(0.5)+ (71=71)2(0.2) + (72 = T)>(0.1) + (73-71)* (0.2)
=05+0+01+08
=14

T E Far e H

az=(-l-nf[a+ll-;—u| HE N e

1 3 2
=—+—+0+—+=
g8 32 32 8
_1
2
B
c

a. iy =-10(02)+20(0.2)+25(0.6)=17
ug = 0(0.3)4+-10(0.4) - 30(0.3) =13
o3 =(10-177(02)+20-17%(02)+(25-17)? (0.6) =1458+1.8+38 4 =186
o5 =(0-13)2(0.3)+(10-13)> (0.4) + (30-13)°(0.3) = 50.7 + 3.6+ 86.7 = 141

b. Investment A

c¢. Investment B

Golfer A Golfer B
Score Frequency Score Frequency
39 2 40 3
40 ] 41 4
41 7 42 5
42 1 43 6
43 3 44 2
44 1
a X,= 39(2) +40(6) +41(7)+42(1) +43(3) + 44(1)
20

_ 820

T 20

=41

sh = %[(39 —41)? (2) + (40— 41)%(6) + (41— 412 () + (42— 41)° () + (43— 41)° (3) + (44— 41)* (V)]



=%[8+6+0+1+12+9]

_ 36
19
F=1.895
Ty = 40(3) +41(4) +42(5) +43(6) + 44(2)
20

_ 80
20
=42

5 = %M’ —42)7(3) + (41-42)° (4) + (42-42) (5) + (43-42)° (6) + (44— 42) (2)]
= i[12 +4+0+6+8]
19

_30
19
2 1.579

Golfer A is better.
Golfer B 1s more consistent.

g4 =100(0.1)+101(0.2) +102(0.3) + 103(0) -+ 104(0) + 105(0.2) +106(0.2) = 103
o3 =(100-103)2(0.1)+(101—-103)*(0.2) + --- +(106-103)*(0.2) = 4.6

pg =100(0) +101(0.2) +102(0) +103(0.2) + 104(0.1) +105(0.2) +106(0.3) = 104
o3 = (100-104)> (0)+ (101-104)> (0.2) + -~ +(106—104)*(0.3) =3 4

Business B
Business B
Student A Student B
Grade Relative Frequency Grade Relative Frequency
4 03 4 0.6
3 03 3 0.1
2 03 2 0
1 0.1 1 0.3

gty =4(0.3)+3(0.3)+2(0.3) +1(0.1) = 2.8

o1 =(4-28)7(0.3)+(3-2.8)(0.3)+(2-2.8)> (0.3) + (1-2.8)*(0.1) = 0.96
pg = 4(0.6)+3(0.1) +2(0) +1(0.3) = 3

o5 =(4-32(0.6)+(3-37(0.)+(2-3)°(0)+ (1-3)* (0.3) =18

Student B

Student A



10.

11.

13.

14.

[
h

The number of heads 15 a binonual random variable Y withn =10, p=05s0 uy =10x0.5=5.

Oy =+/10x0.5x0.5 =1.581.

: . : : : . 1
The number of ttmes the sum seven appears 15 a binonual random variable Xwith n =720, p = p 50

1 1 5
=T20x—=120, Ty =,[720x—x—=10.
Uy 5 by 56

The number of smart thermostats 1s a binomial random vanable X with n = 200, p = 0.015 so
My =200x0015=3, oy = JZGUXG.GIEXD.QE:’} =1.719.

. The number of successful free throws 1s a binonual random vanable Y with n =20, p= % S0 [y = ZDXE =12,

5

3 2
oy = hﬂxgxgangL

a. 35—-c=25and35+c=45 c=10.

2
. 37 25
Probability = 1-—=1-——=75
10° 100

b. 35—-¢c=20and35+¢c¢=50 ¢=15
2

- 5
Probability = 1-—
15

=2 0.89

€. 3I5—c=29and35+c=41 =6
52
Probability > 1-—-~ 0.31
62

a. 8—-c=6and8+c=10 =2

» 0.4°
Probability > 1-——=10356
52

b. 8—¢c=72and8+c=88 c=218
2
" 0.4
Probability = 1-——=0.75
0.8°

€. B8—c=75and&+c=85 =235
2
- 04
Probability = 1-——==0.36
05"

L=3000,0 =250
3000 — ¢ = 2000 and 3000 + c=4000 ¢= 1000
2502

1000’
Number of bulbs to replace: = 5000{0.9375) =~ 4688

Probability = 1— = (.9375



